— i EEAB R EEUPR BHIRRARHEERE ARER

[ EHEEHES L RE]

Seaq. K4 WEEHR k=
1 EH Fx 35 E
2 Bl {S1F 23 &
3 o =i 21 E
4 a2l =t 21 L&
5 T 19 €
6 e A 17 Eb
7 | BB HiTH 16 =p
8 0O A 16 R
9 EX Rig 16 R@2

[#hish T Oy BERAEE LR E]

(NAtEEhE I Ovsy

Seaq. K4 HWIEEHR &=
1 WX FEH 5 B
2 He #H—EF 2 R

(QFEJhigIOyy

Seq. K£ BEEN BE=
1 ME H— 3 oE
2 kg EX 2 R

QIEES: cwl=Dlj

Seaq. K4 BEEHR E=
1 x fiF 4 SEBEEEEE
2 =l B 4 E b
3 Mo =i 2 SEBEEEHE
4 e B3% 2 RE1
5 | ZAH KfsF 2 RE2
6 e EA 2 R@3
7 He 2 Rm4

(4)hERthig o Oy

Seq. K£ HWEEHR &=
1 5H %A 10 Eb
2 0O #HF 1 Re
3 [ K &KX 1 RE2
4 [FHE IEH 1 R@E3
5 =IE ZF 1 R4

(OlEEick: el =Pl

Seq. K£ REEN ik
1 Wim mX 6 Eb
2 HH B 3 R
3 WA BRF 3 RE2

(6)F E-mEHE T O

Sea. K4 BEEHR &=
1 L IEE 5 =h
2 il {Z 58 1 R
3 P ANIRE T 1 RE2
4 | mEH BF 1 R@3

(MAMHiTays

Seaq. K4 WEEHR k=
1 2l EER 19 58
2 Hif ¥— 2 RE1




	Sheet1 (2)

